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Name 8. Whichdson problem does the model | 1. Elen bought 8 roses for $45.50.Which Name 19. Choose i
Tess made epresent 1 point I5the best way o estimatethe costof 06141
1. Mr.Dodd filed the gastankon hslawn 5. The chefatarestaurant onerose? 1 point 13. Draw lines to match each expression on | 15. For questions 152-154, choose |
‘mower with 3 gallons of gas. He mowed bought 37 pounds of ® s45- 5900 the leftwith the correct quotient on the YesorNotorellif the
hisyard 10 times o the same tank of gas salad for $46.25.How right 1 point number 403 will make Oer=
He used th sare amount fgas each much didshepay or @ sizos-sem cancaunong. | p
ime. How much gas did he use each time? ‘each pound of salad? i - 078+ 10 0708 i L
dime:How mch s didhe s cach time? hpoundofslad? T point ® 1353085 © s4510=s045 Lozer1o b 150 1100408 o ves @ o
f oas8 gallon P fs‘"“ ® 1353084 © 54055050 708 10* 007 15h. |+ 10720403 @ Yes O No O oo
038.gallon 125
= 4 © 162+3-085 —— = = 156 4100403 @ Yes ONo O oar
38 gallons. $130 ® 16243054 12. Toby's faucet dripped a total of 1.92 iters 15 |+10°=403  OYes @ No —
® 30galons ® suso ofwater In 24 hours The faucet dipped w010 o008 ]
the same smount each hour. e . e
2 Kimberyscoreda otal of 3508 points | 6. Kathleen spent$231 onconcerttickers 5. 8 ounces of canned pumpkin have parn e | g Lous Dinerspent 128008 pounds P
nfourevents fo her gymnastc forherselfand 11 frends.Each ticket 82.calores, how many calorkesarein 14. Diegois makingalarge mural. He e et ke
Compettion.f he score the same costthe same. oneounce? 1 point Estimate how many er is faucer raws a hexagon withaperimeter of poundof potaoes? 1 point
Srountin each event how many ponts . o pped each hour Wit an equaton o 10 meters. Each i of the hexagon s —
i shescor omench 1 point modelyour work. 1 point the same length. $1.60
Estimatethecostof eac ket Write an ® 125 clories - explan|
equation o show your work. 1 point © 1025 clones Sample answer: 0.1 lter; is 103
20 © 10025 cloies 2+20=01 102
3. Draw lines to match each expression on = find th
theleftwith the corret uotientonthe - 17. How many quarters arethee n §307
right.Use number sense and estimation Parts. 10. Mrisol writes the equation Solve the equation 30 -+ 0.25 to help you.
tohep. 1 point o e 15+ n=0016. Find the exact amount of water that. PartA ® 1o 1 poied =—
ind the exact cost of each ticket. Parth 1 point dripped each hour. 1 point How many meters long s each side of auarters poi 21, June says
(216718 25 Comporeyouramsver o you et pont Diego’shesagon? Wit anequation to ® 20quarers pointin ]
1o check for reasonabieness. 2 poi hacileof ke hecsion e 0.08 lter; modstyourwork. 1 peint ® noqures Is e con
e = = it your anwier using anexponent
$19.25; My answer is 192+ 24 = 0.08 T ——. © 20marre explainy)
= i closs to my estimae, so my 107 75m; 105+ 6= 1. o
Lmmeas & answer is reasonable. e .
| 296746 186 partC points 18. A group of § friends bought a bag of June is
parts Compare your estimate toyour answer. parts grapes toshare equally f the bag of explar
xpai how you know your answer s 15your ansver reasonable? xplain. grapes weighs 10.25 pounds, how much
. Forquestons a-4d, chooseYesorNo_ |7 Choose al he xpresslons tht are equel coect. 2 points ——— The totalcostofthe suples topaint s tach persons hare? Wit an equaton numl
1o tellif the number 10° will make each 0125 +10.1 point Sample answer: 0.1 is the mural is $38.70. Diego and 9 friends ‘tomodel your work. 1 point 40 +
equation true. 1 point + Samy Inswer: divide the total cost equally. How much
- oms O s g M"k,“ " ,,,mrh close o 0.08, so my o eachperson pay? 1 point 2.051b;10.25 + 5 = dose
. ~0085 O Yes ® No 0 o1z5+100 imal point two places| answer is reasonable. belon
4h.850+ [ =085 @ Yes ONo ® 100t between the dividend and the $3.87
4c.8500+| |85 @ Yes ONo O 1251 quotient, the divisor is 102,
a8 50 O Yes @ No ® 500
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8. Whichdson problem does the model | 1. Elen bought 8 roses for $45.50.Which Name 19. Choose il the expressions thatare equal | 2. Thiee comorkers decded t buy fut 0
Tess made represent? 1 point I5the best way o estimatethe costof 1061+ 10% 1 point hae at unchtime. Anonla spent $1.47
onerose? 1 point 13. Drawlines to match each expressionon | 15. For questions 152-15d, choose ™ on bananas, Laura spent $2.88 on apples
2 ® $45+5=$900 the left with the correct quotient on the Yes or No totell if the. " Suzanne spent $2.85 on oranges.
Assessment P : right. 1 point number 40.3 will make O 61108 rth 1 polnt
48 8- 3600 eachequation e
i 078+ 10 0708 1 poir @ osi-0 Complete the bar diagram to find out.
et ® 135+3-08 © st5-10-s04s 150 w0l O ves @ o o ey spentmallon .
® 13503-08 © si0-5-5050 o8 10t oors 15h, 1070403 @ Yes O No O roo 10t ey
N T 5 061 = 10* sotal »
© 16243045 = = 15e] [ 41P- 403 ®Yes O No o e aw [ as
® 1523205 12. Toby fauce dripped a totl of 192 ers 155 10-408 O Yes @ No W _sa A
of water in 24 hours. The faucet dripped 780 +10° 00708 20. Karen divided 560.9 by 10° and got bananas  wppien orsnges.
the same mount ach hour: .
2 quolientof .560. o thinks the
ncerttickes 9. 118 ouncesof camned pumpiin have 16. Lous Diner spent $12.80on' pounds ?
fhtder 52 e how ) o el ST 14 Degormkings e munl e P el Liotentshoukd b 50 i s conect §7.20
neouncer 1 ot simate how many lers is faucet yraws  hexagon ithapermeter Fnclofpotataest ) poi Expio youarsve 2 poinls
pol dripped each hour. Wirite an equation to 10.5 meters. Each side of the hexagon is pouneiof potumast L polnt y PartB.
® 1625 caloies modelyour work. 1 point the same length. Karen is correct. Sample
" $1.60 vt Sace e dbvi They eventy dvided the costof he
cket Wite 2n ® 125 calories = explanation: Since the divisor 3 types of fuit. How much did each
%1 point ® 1025cabories Sample answer: 0.1 lter; is 103, the decimal point is person pay? Complet th b dagram
2 © 10025 cloies 2+20=01 moved 3 places fo the lef fo tohelpyou. T point
™ = o find the quofient. r— §7.20
—_—, > . Howmany quarters ae there n $307 p |
10. Marisol wites the equation PartB Solve the eqution 30 + 0.25 to help you. 5240 | $240 | $240
ke 16+ n=0016. Find the exact amount of water that PartA ® 12quare 1 point —_— t
e Parth 1 point dripped each hour. 1 point How many metersfong s cach side of quarters po 21 June saysthat there should be  decimal ot
S pom Wt ot ke weustone? | [ 0,08 lr Sl tmpncistonse | @, s et bl e
X 3 model your work. 1 poir ® 120querters Is she correct? Use number sense to
= Wit your answer using anexponent fsshe comect Use number
ris 192+ 24 = 0.08 P ——— © oqurens plain 2 points
ssomy 107 d 94+ 52= 845 S pyee
. —_—
PartC 2 points 18. A group of § friends bought a bag of June is not correct. Sample: If Laura bought 2.1 pounds of apples,
pars Compare your estimte o your anwer - grapes o share equaly. fthe bag of explanation: 1used compatild | e perpoundofappes grster
I than orles than 17 How ca you el
Explain how you know your answer s Is your answer reasonable? Explain. o ettt grapes weighs 10.25 pounds, how much numbers fo esfimate: o
hatare cqual comect. 2 points o e total cost of the supples o paint 15 ench person hare? Wiiean equation : N
- Sample answer: 0.1 is the mural s $38.70, Diego and 3 fends oot yeuron 1 potet 40+ 5 = 8 and 84.5is not Greater than Sample
Sample answer: Since the close fo 0.08, so my i hetotal ostequly. How much - close to.8. The deciml point explanation: Since 2.8 is
mple ans _ does each person pay? 1 poinl 2,05 1b; 10.25 + than 2.1, the quofi
decimal point moved two places| answer is reasonable. belongs after the 8. greater than 2.1, the quofient
between the dividend and the $3.87 2.88 + 2.1 will be greater
quotient, the divisor is 102. than 1.
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